Orden de Operaciones (F)

Realice las operaciones en el orden correcto.

52,52 % 65,5 — (43,21 4+ 68,16 +78,68)

—_—

[\

- 81,8+77,96+70,49 — 76,09 — 6,73

W

9,68 +-53,08 —48,11+94,57 x 35

4. 47,72473,78 + 65,24 45,53 472,08

9,

. 92,18 — (88,52 +1,21 —54,21) + 97,81
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Orden de Operaciones (F) Answers

Realice las operaciones en el orden correcto.

. 52,52 x 65,5 — (43,21 + 68,16+ 78,68)

= 3.250,01

. 81,8+77,96 470,49 — 76,09 — 6,73

= 147,43

1 9,68+53,08—48,11+94,57 x 35

~3.324.6

47,72473,78 +65,244+5,53 +72,08

= 264,35

192,18 —(88,52+ 1,21 —54,21)+97,81

= 154,47
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